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B EREELS 2.25%0.9%0. 15 7 2 2
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T—RPAFEAT 4. 4%1. 3%2%% m 11.44 11
73 Al - YR & = 1 1
A - B X 1 1
REMNS = 1 1
TASURHE
BEMEYIHLI (SHEEY - tmET) HERTIRZ m3 37.30 37
(KMEHETBRERTHEICED) |1. 10%x0. 45%2. 00%4=3. 96
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1.45%0. 15% 1. 70%4=1. 48
1.45%0. 15% 1. 93*x8=3. 36
0. 90%0. 15%10. 00 *4=5. 40
0.90%0. 15%4. 55%4=2. 46
0.90%0. 15% 1. 45%x4=0. 78
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1.42%1.00%1. O0* 3. 14%1/2%x4=8. 92
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A Qv —kER) a2 91)—h5%=37.30m3 m3 37.30 37
SIE DID#X7zL | :E M EERES.Okm LT m3 37.30 37
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V) =Ly 37. 30%2. 5t/m3 t 93.25 93
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A m3 11.13 11
T EEM Bk EE B 10km L T m3 11.13 11
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TRERETt=20cm B4EY79Y%72 RC-40 1. 2%3. 75+2%18+1. 2%3-+1. 2¢3+2%21. 2+1. 2%3. 35=94. 12 m 94.12 94
EERBTt=10cm HEHFEFREM-25 1. 2%3. 75-2%1841. 2%3+1. 2¢3+2%21. 2+1. 2%3. 35=04. 12 m 94.12 94
aAVH)—REET (NA) (F35-HH) HEEE20cmll E m 94.12 94
OV —MEHET (D tHZE[E25cm 45—6.5—40N FHIEBKADIBDAETE] m 94.12 94
A5 T EM8%5D10 32.9kg/m2 X 94.12=3096kg t 3.09 3
FEE G B thikt=10mm (¥ &) 0.25%2. 0%3 m 15 15
SHEE R Y Bt=25cm 3.0%8 m 24 24
S MREERt=25m (FEAET) 94. 12— (14.0%2. 0%2+1.0%1. 0% 3. 14%2) m 31.82 31
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iR E 31.82%0. 3 m3 9.54 9
A EL m3 9.54 9
TR EE 31.82%0. 3 EHEEREEIOkmLLT m3 9.54 9
OfFEERET
REEET = 1 1




